Combined Graduate Level Examination 2021 Tier - |

Roll Number

Candidate Name

Venue Name

Exam Date 13/04/2022

[Exam Time 9:00 AM - 10:00 AM
ISubject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 foE T AR srer-awagl # A fiv vl 7 frelt yopr @ Tar & 3R U@ s ¥1 39 SRiTa
SER-TYE BT T B

Ans X 1.BUMD

X 2. WPHY

X 3. MFXO

/4. GZSH

Question ID : 65497843476
Status : Answered
Chosen Option : 4

Q2 f3u e fdewcdl # § 39 31eR-99g @1 ge ot Fafafed aear & yyams g (2) &
TIT TR 3T FHelT 2

ECDR, BGYW, YKTB, VOOG, ?, PWEQ
Ans X 1.SSKM
X 2.SRIL
7 3.8SJL
X 4.RSIL

Question ID : 65497843979
Status : Answered
Chosen Option : 3

Q.3 UERTH, I, J, K 3R L TF THa & i ¥5 YRS §1 H FTIF K F¥5 & S W ek L
PP B 3P 19 21 1 I ¥ R 7 8T J I e ¥ IR A 2 159 & 9 P ¥

WPHR?
Ans X 1.J
o 2.K
X 3M
X 4L

Question ID : 65497842069
Status : Answered
Chosen Option : 2




Q.4 98 faenfia &) e wem A, et faemdf = Qe - g, A ok 2wy, A A su A 50
w@a@aﬁ%mzﬁwﬁw@aﬁ% 49 2Pr R & R 43 TS @ ¥ S o
3R HId 3l T W aral faenfiel o o T 29 21 5 faenf i+ @a Tad §1 Faa
ﬁaﬁ?aﬁawﬁaﬁtﬂﬁﬁmﬁq’rﬁwmél 11 faeff Faa o iR

Qea €1 6 et o gax ok Tais Qaa €1 fban Renelf Paa 2 G §2

Ans X 1.20

2.2
5 3.23
X422

Question ID : 65497843084
Status : Not Answered
Chosen Option : --

Q.5 wﬁw@«qmmﬁmﬁﬁwﬁmﬁwﬁmwﬁa%ﬁ@mﬁmmmﬁ
el 21

27:576::19:7
Ans X 1.328
/ 2.256
25 3.543
X 4.498

Question ID : 65497842780
Status : Answered
Chosen Option : 2

Q.6 3T TE fIhey 1 99 B3 S T TT Tred) B I 59 | guifan @ R w9 3 siisht
TP A B
1. Magnetic
2. Magnify
3. Magnet

4. Magical
5. Majesty

Ans 7 1.4,3,1,2,5
K52.3,1,4,2,5
25 3.4,3,2,1,5
X 4.4,1,3,25

Question ID : 65497843576
Status : Answered
Chosen Option : 1




Q7 s gdor & P R & @R AB' W TE1 W  §, &t & ¥ sy & adur & T wd

SafaT & 99 wi
A
B
Ans
K1

Question ID : 65497842082

Status : Answered

Chosen Option : 3




Q.8 f=ifed Yo &1 earFyd® Sreaa &3 3R fau U fawedl # A 39 T &1 a4 Y &
I TS fRUg (?) $ VI W 1 el gl

158112
18 99 15
17120 ?

Ans 7 1.13
X209
X 3.16
X411

Question ID : 65497843489
Status : Answered
Chosen Option : 1

Q9 30 frer 71 Tw = o & R agfa wieafea & (gEe Fr wgafy 76 )

Ans

X 4. Jﬂ]_'-L

Question ID : 65497843495
Status : Answered
Chosen Option : 1




Q10w & o ¥ 2t -3 HaEAT Rarg wg ¥, Oed o e W1 ¥ 6 geare sifEa § 5w
HET & 904 FY S G '3 G Gl & [Qudd 9 Soe 9 el

Ans  x 1 D
X2 4
X3 6
s 4

Question ID : 65497843999
Status : Answered
Chosen Option : 4

Q.11 f3E 7T HyFT 3R fAepul Bt WYd® ud | 98 A 5 % Syl § <) 7 seR 9w §,
ydl € 9% I U @ 7 9t | i udia @l 8, 9u o3 {6 e e el # § v
A fropd Syl ®1 i U SFER B B

DY

Tt Hriare FReE B

$O FHARNI fPAA B

Po fPar siaet g1
foep:

1. P Fram e T8 81
Il. $ {PaH BRe@T &1

Ans X 1. Gl fishy SFTERUI A B

2 2. a1 SR | 7 11 STIRT BT B
X 3. Had sHY | SRR FRaT B
4. I e 1] SRR R B

Question ID : 65497843989
Status : Answered
Chosen Option : 4

Q.12 foreft fAf3a e Hrer &, 'FOREST' ®1 'GUSITU" fraT SITeT 8, 3k '"MANGROVE' &1
"NEOHSUWI" foraT SITdT & | S3iY 4TT & 'REINCARNATE' &1 &4 ferar smaam?
Ans . 1. SIOODESOEUI

X 2. SIOODESOEFF
#< 3. QIOQDESOEUF
/< 4. SFOFDESOBUI

Question ID : 65497844084
Status : Answered
Chosen Option : 1




Q.13 ?ﬁﬁr@amaﬁﬁgﬁamﬁﬂiﬁwmaﬁﬁﬁmﬁaﬁﬁm

72x18+9+19-39=16
Ans X 1.-3R x
\/2.+\3?|Tx
X 3.+ 3R x
K4.-3ﬁ?+

Question ID : 65497842076
Status : Answered
Chosen Option : 2

Q.14 T AT BT 3R FRT B Y 7 A FgT, a8 W TR DI shaital At 31" qfgar S
¥ forg R Gafta 22

Ans X 1.9g7
X2 gl
3. 7¢
Xoam

Question ID : 65497842068
Status : Answered
Chosen Option : 3

Q.15 T Af3d BT W # POTATO" BI 32-30-40-2-40-30 & U H Hed [al oIIdT § 3R
"TURNIP' F1 40-42-36-28-18-32 & U H Fad fbal SITaT 81 ST UTWT H, 'RADISH' HT
5 UpR Feas fvar smgm?

Ans X 1.18-1-8-38-18

X 2.36-1-4-19-16
/< 3.18-2-4-19-18
/4. 36-2-8-38-16

Question ID : 65497842772
Status : Answered
Chosen Option : 4

Q.16 I fIPHed BT T99 BY off TR U & S TR Haiid & S gvT U Ugd e @ e €
I

IVORY : ZWSPJ :: CREAM : ?
Ans X 1.NFDQB

«/ 2. SNFDB
/< 3.DSFCN
/< 4.BQDZL

Question ID : 65497843073
Status : Answered
Chosen Option : 1




Q.17 feg g
ot g

24, 2, 52, 312, 320

Ans

X142
X 2.30
X 3.35
L 4.48

fawedl # 9 98 W@ gie o Fafafad Soit & yeams fog (7) FREw e
I

Question ID : 65497843485
Status : Not Answered
Chosen Option : --




Q.18 v oy & 2 v e v §1 oF oren fRE Rew st Y@t & s Awet W

T =1 war 32
[ Vi
v m‘ mo l
Ans
\
i | v
1.
Wi
Il
IL
Vi 1Y 11
X 2.
I
|
\|
m vV il
X 3.
I\
I
l.
1l | v
X 4.
v
Vi

Question ID : 65497842785
Status : Answered
Chosen Option : 1




Q.19 fedt e P HIHT #, “this is fact’ B ‘cuz duz ruz’ forRET W4T €, Hfact is fictional’ @1
‘guz ruz cuz’ forar sirar %, 30X ‘doubt is clear’ &I ‘cuz kuz buz’ foraT ST %I I v A
‘this is fictional’ @Y $¥ feraT STE?

Ans X 1.duzguzruz
25 2.duz buz cuz
3. kuz guz ruz

«/ 4. duz guz cuz

Question ID : 65497843480
Status : Answered
Chosen Option : 4




Q.20 fo=r smgpfadt & Fwrs & v S S A'sH B (I | H) aﬁmﬂm%aﬁt@?gﬁmaﬁf
T Fr BAfY (i i ﬁ)z&ﬁé%@mﬁmmmaﬁaﬁm(m%gﬁgm#m
fRerar Sperar g

>

® (if)

Sl
<l NO N
O O

| 40O M
O O

> >

x| N O 4
0. O

sl N O A
O O

Question ID : 65497842790
Status : Answered
Chosen Option : 4




Q.21 S%q%ﬁmﬁ%aaﬁwgﬁqﬁmﬁ@amﬁﬁuwﬁg(?)%@rﬁww
I

74,74,72, 24,2, 4
Ans X 1.21
7 2.20
&03.15
K49

Question ID : 65497843991
Status : Not Answered
Chosen Option : --

Q.22 R =iw fawmedt & ¥ 5@ gy W WA FU S A J@er § waEnw e (7) & Seeia &1
weel B

Ans

Question ID : 65497842079
Status : Answered
Chosen Option : 4




Q.23 i srer Jaar ¥ uyaras fIg (?) & RIF W S 9T &R T2
E,J,N,Q,8,?
Ans X 1.U
r A
X 3.s
JAaT

Question ID : 65497844087
Status : Answered
Chosen Option : 4

Q.24 %ﬁqﬁ«r@ammﬁgﬁamﬁ%mmaﬁﬁﬁﬁmﬁmﬁm

28 +14x7+5-18=20
Ans X 1.+ 3R x
X 2. 3R +
\/‘3_+3?Rx
X 4.+ 3R-

Question ID : 65497843996
Status : Answered
Chosen Option : 3

Q25 37 37 HW & GIA H{ A AEARTAT F90 F aT F FaU H Gaeaq w9 o gaar 8

Ans

1.

QDO
X3 O
OO

Question ID : 65497843094
Status : Answered
Chosen Option : 1

Section : General Awareness




Q.1 VSRS WETERR & R 21
Ans X 1. 3cdifcd

7 2. URA™
X 3. SbfedH
X 4. 9id

Question ID : 65497842096
Status : Answered
Chosen Option : 4

Q.2 YRA F TfauH & FrafifRd § § $i7 91 I<ieE | & YR W YR Is0] &
gifae & YauTfe =u  geaq & Wafie SExa & |1y urikd far mar 412

Ans X 1.3Hdl g
7 2. Tl GRne
X 3. T IR
7 4. T3 IR

Question ID : 65497842812
Status : Not Answered
Chosen Option : --

Q.3 frafufEa ¥ 3 fram urf 2021 F are T 2021 W7 T Ry F (Al Ain 2021 Para
Shooting World Cup) & P4 quf Sitar?

Question ID : 65497843119
Status : Not Answered
Chosen Option : --

Q.4 FEI qolE 2021-22 F TN, 2021-22 H IACTHIY YIET HHA I IHTE FT
B BT U 81
Ans 1638

K272
X 3.76
K 4. 5.1

Question ID : 65497842794
Status : Not Answered
Chosen Option : --




Q5 fd) o seefig wefar B I WiEdT GRT G el 31
Ans X 1. 3CH

2. TIgGIeF

X 3. BRERY

X 4. 3iladioH

Question ID : 65497844016
Status : Answered
Chosen Option : 1

Q.6 3ffw Tdemr 2020-2021 F IFER, faxig af 2021-22 H YRT #t aafa® SiShit (GDP)
TP T2 BT A B
Ans X 1.7%

X 2.3%

X 3.9%
4 1%

Question ID : 65497842089
Status : Not Answered
Chosen Option : --

Q7 dfgite RIS AT, Foram Aer@s # Srust ISl @t RATaT @ |
Ans X' 1. 9Iddig

</ 2.WIC

2 3. U8R

X401

Question ID : 65497843513
Status : Answered
Chosen Option : 1

Q.8 frgferead d & &9 a1 yRdig sif¥iaw a9 2005 & grive foran ma ar?
Ans X 1. foeayf eififrm

o 2. O fem 9 Afga TRefr etfefan
x 3. 59 fafqear aififay
X 4. 49 e AR gy

Question ID : 65497842106
Status : Answered
Chosen Option : 2

Q.9 frafufea & & fFa wim R 37 ok 19 & aoue & sk wad ¢ifie 817 &Y Jura-n 82
Ans X 1. H¥C UaE

X 2. Fem aa

7 3. YR I

X 4. 3{EAH 3 FoER gU Wg

Question ID : 65497844009
Status : Answered
Chosen Option : 3




Q.10 YR # HgI W "B &g WUITeH (slash and burn)' HY HI ‘Foar BT AT 32
Ans X 1. fgumcE S

X 2. ufgdt are

X 3. SNfSRT I

4. FRES T

Question ID : 65497843512
Status : Not Answered
Chosen Option : --

QM1 UE I & W BT didd ®9 2
Ans 1. 7Ol

252, 4o

X 3.9

X 4. Hamwi

Question ID : 65497843499
Status : Answered
Chosen Option : 1

Q.12 #7,904 HRIS & g & WY, P TSARE g4 Sf$aT WIUSR T 2020' FRT URd
T T IoR WRIUSR! Gt foar |

Ans X 1. Qb SfFHT

X 2. REaT8R

X 3. AR Hied foRen
o 4. 3l Tl

Question ID : 65497842102
Status : Answered
Chosen Option : 4

Q.13 Hwag ¥ B Ry ok 3f & wu & 7ot oM areft S RA F o dae F Ui e
Yo 81 3 919 W Afeat 82
Ans X 1.0dt IR foATe
X 2. fadhrial 3R HRfiReR
</ 3. N SR A
2 4. T IR T

Question ID : 65497844019
Status : Answered
Chosen Option : 4




Q.14 frafafaa # & $1 yga 1 2ifd WU HeITR REBR fawar 42
Ans X 1. q A

2 2. TH T T8l

3. T PUH

X 4. T8 TERRR

Question ID : 65497843114
Status : Not Answered
Chosen Option : --

oo T & 50 Tud wfa fbea @t gfg o1 7 fie
Ans X' 1.9l

2.7

X3S

K< 4. DA

Q15 g & ¥ forw Yot vaa & e gmaw 9= gea (vsp) § fed ad @1 g A 202122 F

Question ID : 65497843098
Status : Not Answered
Chosen Option : --

Q16 I W&H 2024 T T A0 TR A el S U BT B1a=i Wer S gl
Ans 1. S Sita AR

X 2. it e SR

X 3. 3{ed Yoid Al

X 4. 9 wifd SfEE

Question ID : 65497842094
Status : Answered
Chosen Option : 2

Q.17 YR A siiga F R, Frafefea ¥ § $19 @ gear 399 vgad g8 A2
Ans X 1. GSTHAUR

X 2. Si8IaE

o 3. ST B faHTH

X 4. AT3HA HHIE BT SANHA

Question ID : 65497842808
Status : Answered
Chosen Option : 3

Q.18 TFAHS AMRIPI SATHIAE S ABRARI
Ans 7 1.%HA

X 2. 7709 & Ga

X3 dedma

X 4. o

Question ID : 65497844005
Status : Not Answered
Chosen Option : --




Q19 _ U U qrararyr ot Aehfa wear § orad sifrite s & Suesy g
Ans X 1. 3(dRIEIY (Anaerobic)

2. ClREic) (Aerobic)

2 3. 3K (Acidification)

X 4. OFdGHd! (Anthropogenic)

Question ID : 65497842799
Status : Answered
Chosen Option : 2

Q.20 YR % T FT TN TTH THT & I FAUTHeS gRT 91T T T 3R
il o froarfed w3 & fore tamaa 3 gorelt 3t WM $ =0 § ueeud S gl

Ans X' 1. 744t

X2 7al
3. 73d
X 4. 724
Question ID : 65497843521
Status : Not Answered
Chosen Option : --
Q.21 , fafeh=u1 See 4eaila U A B §Y Srcafiie SHeifar smafkr wuil @t fazma ugh §
St gedt 31 IR A g

Ans X 1. T&WR (Kuiper)
X 2. R’ (Chinook)
7 3. 9 TTH (Van Allen)
X 4. 3RRT (Aurora)

Question ID : 65497843103
Status : Answered
Chosen Option : 2

Q.22 Jefiie et A 7 2021 ¥ 3iTeT s U9 Yo Thd A Sfiar
Ans /1.l Oft fSTT (Lee Zii Jia)

X 2. H@HIE $el (Momota Kento)
X 3. T AT I (Lee Chong Wei)
X 4. TR Ualerd (Viktor Axelsen)

Question ID : 65497844027
Status : Not Answered
Chosen Option : --




Q23 qq & IR ST UEiE 10716 " gar 21
Ans X 1. @™

7 2. 59d AP

X 3. S e

X 4. 19¢gd gD

Question ID : 65497843505
Status : Answered
Chosen Option : 2

Q.24 30 2021 9% FI R F AR, FrafiiEa & § F14 te ¥ Ao Jex & PRz 82
Ans X 1. SffHATY UIY

7 2. 3 PAOTdt
X 3. fapa s
2 4.9 W

Question ID : 65497842810
Status : Not Answered
Chosen Option : --

Q.25 P 24 RdaR 2019 B W5 YR RAM & forg faa T Aftisr Tew wESzm @
o MABIIR' RIBR WIS 34T

Ans 1. RgHd
X 2. yore it
X 3. e Rig
X 4.9y HIfde

Question ID : 65497843105
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q1 afy Fhai a1l FEE 707925138, 36 W A fenew €, A y & 3w A F [/ (102 -3y
& A A F

Ans X1, 289
2490
V'3 298
X4 192

Question ID : 65497844029
Status : Not Answered
Chosen Option : --




W ST wew T 5 A ST

tan® 45°+4 cos®60°
2 cosec?45°— 3 sec?30° + sin 30°
Ans x 1. 1 + \/§

xo &

3
x3 3

4
w4 3

Question ID : 65497842129
Status : Answered
Chosen Option : 4

Q.3 Ry a7 aW W 2014 ¥ 2018 dF 5 TG F fw FuA F w3 wgw (3 w0% &) @ e B
AR AE FT FTTS T AR 3TF% 915 U 0 997 &1 5 &)

5 Tl F ey FIEN WA 3R g (T )

400
350 325 XS 3505
300 268

256
20 s
200 ]

150 T = 3T
100 o AT

o

0
<

TrafRfee & & &9 a9 & o = I § g wgEaE 2
Ans - X1. 2018

<2 2016

3. 2014

X4 2017

Question ID : 65497842537
Status : Answered
Chosen Option : 3

Q4 Ifﬁ(S(l—g)—(S—x)—ﬁ of (20—x) = 0.08 &, & x & AT T §?
Ans 1 3G

X2 24

X3 9

X418

Question ID : 65497843122
Status : Answered
Chosen Option : 1




Q.5 400 wH=fEt o v bl A o FHE B g @ Ao sEAE § 5gee 5 3 1 ey
# 87.5% forafam wA=lr §) 7% 92% Tow FAM Frofe sHwd € & Tufae afyer sEmfat &
gfererd fraeT &2

Ans x1. 85%
<2 78%

K3 87.5%

4. 80%

Question ID : 65497844034
Status : Answered
Chosen Option : 4

Q.6 foowr wi§ =i, wlafew 39 o= @y aferer & iR aiece & &1 g dor F gfauE-an AT
T ¥ T T # 99 AT fr g TEW 10,500 1 T W WME FANGEE Hewq= HOHR
T T So F SeaT S

T T

/ 53‘“"”" 20%
15% “63“

Frlday %‘5'“

\V Tuesday
9%

e

\ (’Jo Wednesday

22%
'/

AN (Friday) #1 33 v 3fen &% 3K Siwee F5 H1 6 57 e 4 @ 3 &) 3l o Afen
&% & Hed 19 3R F dwee & 4o 110 §, @ YFAR (Friday) F Wl e = s
AT ¥ B AT AT F A 2 |

Ans 1.9,900
X2 8,900
310,000
411,000

Question ID : 65497844254
Status : Answered
Chosen Option : 1

Q7 afE x+y+2z=18xyz2=81 T xy+vz+2zx =90 & @ x5+ + 2%+ xvz F AT FqT §7?
Ans - K1.1225

« 2. 1280

X3 1321

v 4 1206

Question ID : 65497842830
Status : Answered
Chosen Option : 4




Q8 ofx wer = & FAw0T A TS (a+b) ¥, T T FT SNEA hdeT Y

Ans

1 %(a2+ b?)+ ab

X2 az-ﬁ- bz

X3 g2+ b+ 2ab

1
x4 2 (a®+ b’

Question ID : 65497844641
Status : Answered
Chosen Option : 1

Q.9 frgfr Tfr o WROT e, U &1 v dturd ¥ 3R wiaue 9y 9€ st g aut i g @ 4
T 31 A s Y a A 200 BT A @l B X5.000 W 376t 3 fore wrawer s (X3 e

Frm
Ans  1.1,800
2300

31,500
X 4. 2,000

Question ID : 65497843532
Status : Answered
Chosen Option : 1

Q10 o gweER Rl IEg ¥ A AFT W 28% T gE & F a5 3N 20% T T UIq T &1 Ui 98
T TEG @ daS 9T 33,080 F A GG FAT ¢, o ag F AT Joa (2 H) F4w @

Ans 1.18,480
X2 18,840
310,884
X4 14,880

Question ID : 65497844654
Status : Answered
Chosen Option : 1

Q.11 AABC &, s BC W D ww & Rig & fF 2ADC = «BAC 1 fd CA = 12 cm, CD = 8 cm, & CB
{cm &) FT AT FTBTY

Ans ;1 48
X215
X310
K412

Question ID : 65497842833
Status : Answered
Chosen Option : 1




Q.12 oo g9 & had AB 3 CD 3 Feir s W Rig P oX fAwer §1 afy AB = 6.3 cm, BP = 45 cm
3T CD = 3.6 cm &, a PD & &a1g (em H) e 22

Ans 1. 5.4 cm
X2 35 cm
X3 48 cm
X4 3.1 ecm

Question ID : 65497844044
Status : Answered
Chosen Option : 1

QA3 o = g AT 19 WA 9 9 Auw 50% e wATT 0Tl Sfq @R S SAg § 25% @ gefy
E'&ﬁmﬁzmqﬁw&?awammaﬁm%mlmmgﬁmmmwé?

Ans X 1. 25
2 331
3

X330

2
X4 332
3

Question ID : 65497842116
Status : Answered
Chosen Option : 2

Q14 75 i v T 9T § 225 km F gf 22 def F T ¥l & A W A F 450 km F gl @@
e F fraem wAT (W #) W .

Ans X1 4
X2 6
X3 3
v4 5

Question ID : 65497842827
Status : Answered
Chosen Option : 4

Q15 20 cm =W T FeF &, T AB 3R CD % @Y & TAMRR £ BC, W ¥ AR AB I F FR &
6 cm & g W &, & Sf&r CD #r was (cm &) 7w FL?

Ans X119
X28
X3 20
416

Question ID : 65497843538
Status : Answered
Chosen Option : 4




Q.16 32 cm = aTen TF dOHR aO AR T F T F 5T F| 12 cm B awon v W urg @
e S PR S §1 a9 F O & &1 (em F) fFaer 39T 359

Ans 1, 2 25
X227
X3 72
4 9

Question ID : 65497842122
Status : Answered
Chosen Option : 4

Q17 13, a, b, ¢ TR FAT-3TT FEAT & HT FEwadt F Te4F L (13, a); (13, b); (18, ¢) F 7.H.13 &,
SEabcTam 60 dFATHNa <b <c%|% T AT FT E7

Ans A 2
X2 35
X35
X4 45

Question ID : 65497843121
Status : Not Answered
Chosen Option : --

Q.18 120 m #r I W 33 A TH TeT O ST I E S SIS F 60° F HoT Fenedr §1 Sy A
s (m &) fraar €2

ANS X 1. 90+/3
K2 7543
X3 844/3
4 8043

Question ID : 65497843140
Status : Answered
Chosen Option : 4




Q19 fr 7w w1 =E IRER A 3R TER B & Rftes #e W AT O Ao AR wie @ W e
g afEr A 3R 9Er B @ Afde @ FaAr: 350,000 3R 375,000 F
TE T AR FTAT F{ A’ 3FH A RO O w9 F 5w

NER A & Rffes 7el | &ar s arer Aifde By | 350,000

T At IRERt F AT 9T # TE @I A Eww A, & SF 9iER F #areT
(Entertainment) WX gt aTen =7, gl gREwl & For AfeE w1 e gfowe gem?
HIAT 3eeR Toheas ot & fife

Ans X1 10%
V2 11%
K3 23%
X4 22%

Question ID : 65497843142
Status : Not Answered
Chosen Option : --

Q20 s 4R T IR T A A M Eea s N6 aEm R4 sFr sh s 1 7
R & T TS §, @ 5 g AW 4 Ga5F 3G FA F fhaw B & w00

Ans 1, 5
<25
3 8
<47

Question ID : 65497842119
Status : Answered
Chosen Option : 3




Q21 o fis= ABC #, D 3T E, BC wr 2% fag & R AD = AE 3t 2BAD = £CAE ¥ afy AB = (2p +
3),BD=2p, AC=(3q-1) 3R CE=q ¢ & (p + q) F AF A7 T

Ans Al 3
X2 45
X3 9
X4 36

Question ID : 65497842127
Status : Not Answered
Chosen Option : --

Q.22 A,BaﬁtCmmmgmmiﬁA§a=isha:r33§%,83hd'§ﬁw25% 3T ¢ 9 g3 v
order o &1 Al € & 3T F g A 22,190,000 ¥, & A F REw R #) 79 A

Ans  X1.79,000
X 2. 55,000
371,000
v 4. 73,000

Question ID : 65497842824
Status : Answered
Chosen Option : 4

Q23 7 55ing —4cos@ =0, 0°< @ < 90° ¥, @ 3n+2¢0%0 o o gamET|

Ssinf+3cosf
Ans

x1.3
?
6
2. —
7

x3 2
7

xa 2
7

Question ID : 65497842835
Status : Answered
Chosen Option : 2
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Question ID : 65497843548
Status : Answered
Chosen Option : 3

FE AT A

Ans X194
2”2 31
X330
vt 26

Q.25 o gearst #7 siwe 30 ¥ o I=E ¥ v vew R & S, & s 31 & s § R

Question ID : 65497844643
Status : Answered
Chosen Option : 4

Section : English Comprehension

Stone’s throw
Ans X 1. Hurt slightly

25 2. Large hurdle
«/ 3. Short distance
X 4. Difficult problem

Q.1 Select the most appropriate meaning of the given idiom.

Question ID : 65497843570
Status : Answered
Chosen Option : 3




Q.2 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

This question / is quite too / simple for me / to answer.
Ans X 1. simple for me

o/ 2.is quite too

25 3. This question

25 4. to answer

Question ID : 65497842844
Status : Answered
Chosen Option : 2

Q.3 Select the option that expresses the given sentence in direct speech.

Manan said that he had no work to do that day.
Ans X 1. Manan says, ‘I had no work to do that day.”
25 2. Manan said, “I have no work to do that day.”

./ 3. Manan said, “I have no work to do today.”

2% 4. Manan said, “Have | no work to do today?”

Question ID : 65497843561
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate ANTONYM of the given word.
Ascent
Ans X 1.Present
25 2. Resent
./ 3. Descent
5 4. Patent

Question ID : 65497844072
Status : Answered
Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Study of insects
Ans 7 1. Entomology

/< 2. Biology
/< 3. Geology
25 4. Ecology

Question ID : 65497842864
Status : Answered
Chosen Option : 1




Q.6 Select the most appropriate synonym of the given word.
Solemn

Ans 7 1. Dignified

< 2. Frivolous

25 3. Excited

X 4. Trivial

Question ID : 65497843161
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’. The old

lady needed love and care beyond money.
Ans X 1. beside

</ 2. besides
25 3. No substitution required
X 4. beneath

Question ID : 65497844067
Status : Answered
Chosen Option : 2

Q.8 Select the option that expresses the given sentence in passive voice.

The Smiths have put up a huge Christmas tree.
Ans X 1. A huge Christmas tree is being put up by the Smiths.

£< 2. A huge Christmas tree was put up by the Smiths.
2% 3. A huge Christmas tree is put up by the Smiths.
«/ 4. A huge Christmas tree has been put up by the Smiths.

Question ID : 65497842847
Status : Answered
Chosen Option : 4

Q.9 Select the correct passive voice of the given sentence.

Preeti invited Ritu for a party.
Ans X 1. Preeti has been invited for a party by Ritu.

£< 2. Preeti was invited for a party by Ritu.
+ 3. Ritu was invited for a party by Preeti.
< 4. Ritu is invited for a party by Preeti.

Question ID : 65497843149
Status : Answered
Chosen Option : 3




Q.10 Select the most appropriate ANTONYM of the given word.
CLENCH

Ans 7 1. Relax

5 2. Clasp

5 3. Tighten

5 4. Hold

Question ID : 65497843568
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Your eldest sister / lives in / a big city, / does she?
Ans X 1.abig city

&5 2. lives in

./ 3. does she

25 4. Your eldest sister

Question ID : 65497843246
Status : Answered
Chosen Option : 3

Q.12 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any

error, mark ‘No error’ as your answer.
There is a very little time / for them to prepare / for the show.
Ans X 1. for them to prepare

25 2. for the show

</ 3. There is a very little time

25 4. No error

Question ID : 65497843552
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I imagine you have learnt a valuable lesson from this experience, didn't you?

Ans X 1. have you?
2< 2. No substitution required

/< 3. did you?
</ 4. haven't you?

Question ID : 65497843159
Status : Answered
Chosen Option : 4




Q.14 Given below are four sentences which are jumbled. Pick the option that gives their
correct order.

A. It is a Park quite different from any other we have seen.

B. One difference is that it is made from nearly 250 tons of scrap.

C. Another difference is that it is powered by wind and solar energy

D. A new Park called Bharat Darshan Park has been thrown open to the public in New

Delhi.
Ans X 1.BACD

/< 2. ACDB
/< 3.DBCA
7 4. DABC

Question ID : 65497843160
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Harish’s voice in the empty rooms of their new house.

Ans X 1.reverted

</ 2. resounded
X 3. relapsed
25 4. resorted

Question ID : 65497842160
Status : Answered
Chosen Option : 1

Q.16 Select the INCORRECTLY spelt word.
Ans X 1. Aisle

25 2. Altar
7 3. Attick
25 4. Adorn

Question ID : 65497842866
Status : Answered
Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Drawings or writing scribbled on walls in public places
Ans ./ 1. Graffiti
/< 2. Posters
< 3. Hoardings
5 4. Sketches

Question ID : 65497842158
Status : Answered
Chosen Option : 1




Q.18 Select the most appropriate meaning of the given idiom.

Dark horse
Ans X 1. A mean person

25 2. A slow runner
«” 3. An unexpected winner

25 4. An honest fellow

Question ID : 65497844074
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate synonym of the given word.

Lacuna
Ans X 1. Apathy

25 2. Misfortune
% 3. Languor
/4. Hiatus

Question ID : 65497842859

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

If he wants / farther information, / send him / to me.
Ans X 1.tome

25 2. send him
25 3.1f he wants

./ 4. farther information

Question ID : 65497842943
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it's time

to rethink. Yoga is (1) more. In very simple words, giving care (2) your body,
mind and breath is yoga. Derived (3) the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) the mind and breath through means of various breathing

exercises, yoga poses (asanas) and meditation.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 7 1.much

X 2. few
X 3. many
X 4. all

Question ID : 65497842142
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time

to rethink. Yoga is (1) more. In very simple words, giving care (2) your body,
mind and breath is yoga. Derived (3) the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) the mind and breath through means of various breathing

exercises, yoga poses (asanas) and meditation.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1.for
W/ 2.to
& 3.0n
K4 at

Question ID : 65497842143
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it's time

to rethink. Yoga is (1) more. In very simple words, giving care (2) your body,
mind and breath is yoga. Derived (3) the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) the mind and breath through means of various breathing

exercises, yoga poses (asanas) and meditation.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans 7 1.from

25 2. out
X 3. by
X 4. of

Question ID : 65497842144
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time

to rethink. Yoga is (1) more. In very simple words, giving care (2) your body,
mind and breath is yoga. Derived (3) the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) the mind and breath through means of various breathing

exercises, yoga poses (asanas) and meditation.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.the

25 2. one
' 3.a
S 4.an

Question ID : 65497842145
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it's time

to rethink. Yoga is (1) more. In very simple words, giving care (2) your body,
mind and breath is yoga. Derived (3) the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) the mind and breath through means of various breathing

exercises, yoga poses (asanas) and meditation.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.across

” 2. with
2 3.0n
X4 at

Question ID : 65497842146
Status : Answered
Chosen Option : 2




